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Part: A

1: Which two statements regarding Single Instance Store (SIS) are true? (Choose two.)

A.The Single Instance Store Item Type and child attribute must be referenced in the CommonStore
Server configuration file.

B.CommonStore uses two Item Types to store information for Single Instance Store, one for the
document itself and one for the SIS hash key.

C.Once Single Instance Store is configured, CommonStore stores just one copy of each archived
document, no matter how it is archived.

D.The Single Instance Store Child attribute may be shared among Item Types on the same library
server.

E.Once you have enabled Single Instance Store for an Item Type, you may not turn it off.

Correct Answers: A E

2: It is common for various groups within the same orgainzation to have different requirements.
These differences can greatly increase the complexity and cost of delivering the required
CommonStore solutions. It is advisable to significantly reduce the number of separate policies by
using a modular approach with a limited number of variations. How should you determine the two
requirements? (Choose two.)

A.Implement a top-down approach to fulfill major requirements and then review and fulfill minor
requirements.

B.Place all of the requirements in a pile and randomly make a selection.

C.Prioritize the requirements basic on the delivery cost.

D.Ask the customer to prioritize the requirements.

E.Implement major requirements only.

Correct Answers: AD

3: If your company policy requires that the Content Manager password be changed every 90 days,
which action must the CommonStore administrator perform after changing the password?

A.Run CSX Task -p to store the new Content Manager password.

B.Run ArchPro -p to store the new Content Manager password.

C.Use notepad to update the Archint.ini file with the new Content Manager password.

D.Use notepad to update the archint.cfg file with the Content Manager password.

Correct Answers: B

4: In the CommonStore for Lotus Domino configuration, where is the name of the Content
Manager Item Type stored?

A.CSLD configuration database

B.archint.ini

C.archpro.ini

D.archint.cfg

Correct Answers: B

5: When increasing the number of task workers, which agent on the ArchPro server should be



increased to match the same value?
A.CMAGENTS

B.CSLDAGENT

C.CSAGENTS

D.CSXAGENTS

Correct Answers: A

6: You have a CommonStore policy that archives all e-mail older than 30 days, but the retrievals
on the system are very high. It is decided that 30 days is too soon and that all future e-mail should
remain on the system 60 days before being archived. What are the correct steps to change this?
A.Change the Archive Task in the configuration database/folder.

B.Add a new logical archive to ArchPro and archive all new mail to this logical archive.

C.Update the Archiving Policy and restart ArchPro.

D.Update the Archiving Policy and restart the Archival Task.

Correct Answers: D

7: Your company policy is to delete all stubs in employee mailboxes after two years. The actual
e-mails will remain in the repository for an additional year. How will the user be able to search for
these older e-mails?

A.There is no way to see older e-mails.

B.This type of search is in the existing e-mail client.

C.It will require a small modification to your existing e-mail client.

D.Use the Tivoli Storage Manager client.

Correct Answers: C

8: A new desktop application is installed on all desktops in your company. It creates files with the
extension *.new that will most likely be e-mailed among employees. Your CommonStore system
is set up for attachment archiving. What should you do?

A.Add a new MIME type in CM and a new Content type mapping in CommonStore.

B.Add a new Item Type in CM and a new entry in archint.ini.

C.Add a new archiving policy in CommonStore.

D.Modity the document mapping settings in CommonStore.

Correct Answers: A

9: How do the CommonStore Server and the CommonStore Tasks communicate with each other?
A.The CommonStore Server accesses the CommonStore Tasks based on the directory named in
the "Transfer Path" parameter.

B.The CommonStore Server accesses the CommonStore Tasks based on the task host name and
TCPIP port number.

C.The CommonStore Tasks accesses the CommonStore Server based on the directory named in
the "Transfer Path" parameter.

D.The CommonStore Tasks accesses the CommonStore Server based on the server host name and
TCPIP port number.

Correct Answers: D



10: Under which scenario will e-mail messages meet the minimum qualifications for
CommonStore Single Instance Storing?

A.E-mail messages that have already been archived into any of the CommonStore supported
archive repositories with an archiving type of Entire and which have not been processed by an
external application for digital signatures.

B.E-mail messages that have already been archived into any of the CommonStore supported
archive repositories with any archiving type, which have not been modified, and which have not
been processed by an external application for digital signatures.

C.E-mail messages that have already been archived into any of the CommonStore supported
archive repositories with an archiving type of Entire, which have not been modified, and which
have not been processed by an external application for digital signatures.

D.E-mail messages that have already been archived into an IBM Content Manager archive with an
archiving type of Entire, which have not been modified, and which have not been processed by an
external application for digital signatures.

Correct Answers: D

11: Which two statements are true about the CSX Client Component? (Choose two.)

A.The CSX Client Component allows users to search and retrieve e-mail archived from their
personal mailbox.

B.The CSX Client Component requires the Microsoft Collaborative Data Object to be installed on
each Outlook machine.

C.The CSX Client Component requires the Microsoft Collaborative Data Object to be installed on
the CommonStore Server machine.

D.The CSX Client Component allows an administrative user to search for and place holds on
archived e-mail.

Correct Answers: A B

12: A customer is running Microsoft Exchange 2003. They have 18,000 Outlook 2000/2003
mailboxes with a daily volume of e-mails of approximately 630,000 e-mails. Their IT group
supports Windows, Sun Solaris, and are testing Red Hat on Intel. This customer has decided that
CommonStore for Exchange, Content Manager, and eMail Search will solve their e-mail archival
requirements. Which hardware platform matches their environment and the solution?
A.CommonStore on Windows 2003 and Content Manager on z-Series

B.CommonStore on AIX and Content Manager on z-Series

C.CommonStore on Windows 2003 and Content Manager on Sun

D.CommonStore on AIX and Content Manager on Sun

Correct Answers: C

13: A CommonStore solution is designed to support Single Instance Storage. No automatic
archiving policies have been defined. A mail user sends an single e-mail to three co-workers. One
of the three recipients was addressed as a blind carbon-copy. All three recipients manually archive
the entire e-mail in the same format. The sender also archives the e-mail from the sender's Sent

folder. How many copies are stored in the archive?



Al
B.2
C3
D.4

Correct Answers: C

14: Which Notes design element determines which logical archive will be used for archival?
A Notes view

B.Notes action

C.Notes agent

D.Notes form

Correct Answers: D

15: What is the name of the command to install ArchPro as a Windows service?
A.archpro install

B.archpro installservice

C.arch install service

D.archservice install

Correct Answers: D

16: What are the four sub-processes of the CommonStore Exchange tasks?
A.Poller, Crawler, Worker, Committer

B.Poller, Worker, Authenticator, Committer

C.Worker, Authenticator, Committer, Crawler

D.Worker, Authenticator, Poller, Crawler

Correct Answers: A

17: A customer has a Domino application where all documents of the product information
database are replicated to three locations world-wide. How would you set up automatic archiving
and retrieval with CSLD?

A.Automatic archiving is performed in all three locations; retrieval is available just in the
headquarters.

B.Automatic archiving is performed in just in the headquarters; retrieval is available just in the
headquarters.

C.Automatic archiving is performed just in the headquarters; retrieval is available in all three
locations.

D.Automatic archiving is performed in all three locations; retrieval is also available in all three
locations.

Correct Answers: C

18: A company recognizes that its employees will not use manual archiving effectively and has
decided that they will implement automatic archiving. Which three areas in the configuration

database must be configured? (Choose three.)



A Policies

B.Special Mappings
C.Database Sets
D.Scheduled Task
E.Content Type Mappings
Correct Answers: ACD

19: To configure the eMail Search application, which archive type must be configured in
Archint.ini?

A.generic multidoc

B.generic multipart

C.bundled

D.generic single part

Correct Answers: C

20: Which two configuration changes are required to provide optimal CommonStore throughput
with a Content Manager repository? (Choose two.)

A.adding more IBM Content Manager agents

B.adding additional WebSphere application threads

C.adding more task worker threads

D.adding additional Content Manager user IDs

E.adding additional HTTP threads

Correct Answers: A C



